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Math 2110Q Practice Exam 2

1. Compute the arc length of the curve given by 7(t) = (§t3/2, 142 — 2¢, 432y fromt=1tot = 2. [5]
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2. Compute the line integral of F = (y — z,z3) over the portion of the curve y = z? from (-1, 1) 6]
to (1,1).
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Math 2110Q Practice Exam 2

3. Set up but do not evaluate a triple integral in cylindrical coordinates to find the volume [5]
enclosed between the zy-plane and z = 2(z? 4+ y?) + 3 over the region D in the second gquadrant
enclosed by z? 4+ y? = 25 using cylindrical coordinates.
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4. Set up but do not evaluate a triple integral in Cartesian coordinates to find the volume [6]

enclosed between y =0, z = O, y= 7 and 2 = 1 o :
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Math 2110Q Practice Exam 2

5. Compute the line integral of f(z,y) = 4zy over the line segment from (1,—2) to (3,0). (7]
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Math 2110Q Practice Exam 2

6. Let C be the path consisting of the line segment from (0,0) to (1,1), followed by the portion
of the circle of radius v/2 traced counterclockwise from (1,1) to (1,—1), followed by the line

segment from (1, —1) back to (0,0). Sketch C, then use Green’s Theorem to compute the line
integral of F = (2% — zy, V) over C.
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7. Let F = (322 — 2zy + 5,43 — z?) be a vector field.
(a) Find a potential function f so that F = V£. 3]
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(b) If C is the circle (z — 2)% + (y + 4)? = 9 traced once clockwise, find the value of the line 2]

integral / F.dr
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8. Write the followifig integral using spherical coordinates if the solid F is"bounded below by 8]
z = 4/z% + y2 and above by z = 1. Do not evaluate.
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